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1. (a) ÈÛé©Û¶Û¶ÛÛé ÍÛÛ¾ÛæÜÐüïõ ÍÛÛéþùÛÉÛÜî©Û¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé.  

 (b) ‘ýÛäÅÛÁõ’ ¬ÛàýÛÁõ¾Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  14 

          …¬ÛÈÛÛ 

 ÁõàïõÛ¦øÛë¶ÛÛ× ½ÛÛ¦øÛ¶ÛÛ× ÜÍÛ±ùÛ×©Û¶Ûà ÍÛ¾Ûà“ÛÛ ïõÁõÛé.  

 

2. ïäõþùÁõ©Ûà …¶Ûé ¼Û›ÛÁõ ÈýÛÛ›÷þùÁõ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. ÈýÛÛ›÷þùÁõ¶ÛÛé ¸ÛóÜÉÛÌ¤ø ÜÍÛ±ùÛ×©Û ˜Û˜ÛÛë.  14 

                        …¬ÛÈÛÛ 

 ÍÛÛ¾ÛÛ¶ýÛ …¶Ûé …ÍÛÛ¾ÛÛ¶ýÛ ¶ÛºõÛ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. ¸ÛóÛé. ¶ÛÛˆ¤ø¶ÛÛ× ¶ÛºõÛ¶ÛÛ× ÜÍÛ±ùÛ×©Û¶Ûà ÜÈÛÍ©Ûè©Û ˜Û˜ÛÛÙ 

ïõÁõÛé.  

 

3. ¸ÛéÁéõ¤øÛé¶ÛÛé ÍÛÛ¾ÛÛœ÷ïõ ïõÅýÛÛ¨Û¶ÛÛé ”ýÛÛÅÛ ÈÛ¨ÛÙÈÛÛé. 14 

                …¬ÛÈÛÛ 

 ÍÛÛ¾ÛÛ¶ýÛ …¶Ûé …ÛÜ¬ÛÙïõ ïõÅýÛÛ¨Û¶ÛÛé ”ýÛÛÅÛ …Û¸ÛÛé. ¸Ûà•Ûä¶ÛÛ× ïõÅýÛÛ¨Û¶ÛÛ× …¬ÛÙÉÛÛÍªÛ¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé.  

 

4. ¾ÛÛÜÐü©Ûà¶ÛÛ× …¬ÛÙÉÛÛÍªÛ¶Ûä× ¾ÛÐü«ÈÛ ˜Û˜ÛÛë. …ÍÛ×•Û©Û ¾ÛÛÜÐü©Ûà¶Ûà ¾ÛäÉïéõÅÛà…Ûé ÈÛ¨ÛÙÈÛÛé.  14 

       …¬ÛÈÛÛ 

 (a) ‘ïõÁõÛÁõ ¬ÛàýÛÁõà’ ˜Û˜ÛÛë. 

 (b) Áõ¾Û©Û¶ÛÛ× ÜÍÛ±ùÛ×©Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  
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5. (a) ›Ûé¦øïõÛ× ›Ûé¦øÛé : 7 

(1) …Û¾Û¨Ûé ýÛäÅÛÁõ Ü¬ÛýÛÁõ¾ÛÕ …Û¸ýÛä× (A) ïéõˆ¶ÍÛ 
(2) …µÛÙ½ÛÛ¦øÛ¶ÛÛé ”ýÛÛÅÛ …Û¸ýÛÛé (B) ÉÛäÜ¾¸Û¤øÁõ  
(3) ©ÛÁõÅÛ©ÛÛ ¸ÛÍÛ×þù•Ûà¶ÛÛé ÜÍÛ±ùÛ×©Û  (C) …¸Ûæ̈ ÛÙ ¾ÛÛÜÐü©Ûà 
(4) ¶ÛºõÛé …é ÉÛÛéµÛ¶Ûä× ÈÛÇ©ÛÁõ ™öé (D) ÅÛÛé”Û×¦øà ÜÍÛ±ùÛ×©Û 
(5) ÍÛÛ¾ÛÛœ÷ïõ ïõÅýÛÛ¨Û ÜÈÛµÛéýÛ (E) ÜÈÛïõÍ¤øà¦ø 
(6) ¾ÛæÅýÛ¶ÛÛ× ›Ûé”Û¾ÛÛé  

(Moral Hazard) 

(F) ¼Û•ÛÙÁõÍÛ¶Û 

(7) ÈÛé©Û¶Û¶ÛÛé …Ûœ÷ÜÈÛïõÛ¶ÛÛé ÜÍÛ±ùÛ×©Û (G) ¾ÛÛÉÛÙÅÛ 

 (b) ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé : 7 

  (1) ÜµÛÁõÛ¨Û ½Û×¦øÛéÇ¶ÛÛ ÜÍÛ±ùÛ×©Û ¸Ûó¾ÛÛ¨Ûé, _______ ¸ÛÜÁõ¼ÛÇÛé ³ùÛÁõÛ ÈýÛÛ›÷þùÁõ ¶Û‘õà ¬ÛÛýÛ ™öé.  

   (a) ¶ÛÛ¨ÛÛïõàýÛ  
   (b) Ü¼Û¶Û¶ÛÛ¨ÛÛïõàýÛ  

   (c) (a) …¶Ûé (b) ¼Û×¶ÛéýÛ 
  (2) ÉÛä±ù ¶ÛºõÛé _______ ›Ûé”Û¾ÛÛé …¶Ûé …Ü¶ÛÜÊ˜Û©Û©ÛÛ…Ûé ÍÛÛ¬Ûé ÍÛ×ïõÇÛýÛéÅÛ ™öé.  

   (a) ÈÛà¾ÛÛ¸ÛÛªÛ  
   (b) ÈÛà¾ÛÛ¸ÛÛªÛ ¶Û ÐüÛéýÛ ©ÛéÈÛÛ 
   (c) (a) …¶Ûé (b) ¼Û×¶Ûé 
  (3) ¸Ûà•Ûä¶ÛÛé ïõÅýÛÛ¨Û¶ÛÛé ”ýÛÛÅÛ ________ Š¸ÛÁõ …ÛµÛÛ ÜÁõ©Û ™öé.  

   (a) ÈÛ¸ÛÁõÛÉÛ 
   (b) Š©¸ÛÛþù¶Û 
   (c) ¶ÛÛ¨ÛÛ× 
  (4) •Ûé¾Û ¬ÛàýÛÁõà¾ÛÛ× ________ …é Ü¶Û¨ÛÛÙýÛïõ •Û¨ÛÛýÛ ™öé.  

   (a) ”ÛéÅÛÛ¦øà 
   (b) ÈýÛæÐüÁõ˜Û¶ÛÛ 
   (c) ÈÛÇ©ÛÁõ  

  (5) ________ ¾ÛÛÜÐü©Ûà, …ýÛÛé•ýÛ ¸ÛÍÛ×þù•Ûà ©ÛÁõºõ þùÛéÁõà ›ÛýÛ ™öé.  

   (a) ¸Ûæ̈ ÛÙ 
   (b) …¸Ûæ̈ ÛÙ 

   (c) ¾Ûé¤Öøàïõ 

  (6) ÿ˜ÛÛ ÈýÛÛ›÷þùÁéõ, ¾Ûæ¦øà ÁõÛéïõÛ¨Û ïõÁõ¶ÛÛÁõÛ…Ûé __________ ¾Ûæ¦øà ÁõÛéïõÛ¨Û ïõÁéõ ™öé.  

   (a) …Ûé™ä×ö 
   (b) ÈÛµÛÛÁéõ 
   (c) ÍÛ¾ÛÛ¶Û 
  (7) _________ …é ïõÁõÛÁõ Ü¶ÛµÛÛÙÜÁõ©Û …ÛÈÛïõ ™öé.  

   (a) ¶ÛºõÛé 
   (b) ÈÛé©Û¶ÛÛé 
   (c) ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ 

____________ 
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1. (a) Explain collective bargaining theory of wage. 14 

 (b) Discuss Euler’s theorem.  

     OR 

 Analyse Ricardian theory of rent. 

 

2. Define natural and market rate of interest. Discuss classical theory of interest rate. 14 

OR 

 Elaborate the concept of normal and super normal profit. Discuss Night’s theory of 

profit. 

 

3. Explain Pareto’s concept of social welfare economics. 14 

OR 

 Elaborate the concept of general and economic welfare. Give the idea about Pigou’s 

welfare economics.  

 

4. Explain the importance of informative economics. Discuss the various difficulties of 

asymmetry information.   14 

                OR 

 (a) Explain Contract Theory. 

 (b) Discuss Game Theory. 
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5. (a) Match the following :   7 

 A  B 

(1) Euler’s theorem given by (A) Keynes 

(2) Concept of quasi rent given by (B) Schumpeter 

(3) Liquidity preference theory (C) Asymmetry information  

(4) Innovation theory of profit (D) Iron law 

(5) Social welfare function (E) Wicksteed 

(6) Moral Hazard (F) Bergson 

(7) Subsistence theory of wages 

known as  

(G) Marshall 

 

 (b) Choose the correct option :   7 

  (1) According to Loanable funds theory, _______ forces are determining the 

rate of interest. 

   (a) monetary (b) non-monetary (c) (a) & (b) both 

  (2) ________ risks, that involve uncertainty and give rise to profit. 

   (a) Insurance (b) Non-insurance (C) Both (a) & (b) 

  (3) Pigou’s concept of welfare is dependent on __________. 

   (a) consumption (b) production (c) money 

  (4) A _______ in game theory refers to a decision maker. 

   (a) player (b) strategy (c) payoff 

  (5) _______  information leads to adverse selection. 

   (a) symmetric (b) Asymmetric (c) Metric 

  (6) Investors invest _______  at higher rates of interest. 

   (a) less (b) more (c) equal 

  (7) _______  is a contractualised income. 

   (a) Profit (b) Wage (c) National Income 

   

  

 


